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Preduction and operations management gets as close as one can get in the business world to "the act of
creation”. Which one of the foliowing statements is Incarrect? Production and operations management

\/c"- encourages other business functions to suggest ways in which it can u'npmve its service to the res!

of the business.

views a micro operation as an internal customet/client and is the mast impaortant area of employes
know-how, and further arranges the resources which are devaoted to the production/delivery of its
goods (produces) &nd services.

views all managers as production and operations managers and sees thern as hoiding the key to
either satisfying or disappointing customers/dlients.

focuses on the transformation model and entalls information processmg and r:l.xstomerlcliems

processing.

.. ards the desagn and impmvement of rts services as a@f mponslblmy /

In the feedback for activity 1.3 In your study guide, the term "affectiva” was explalnad Within the context
of production and operations management this means that products and/or services must be manufactured
or rendered that will setisfy the needs of the customers/cllents. The key lssues of this goal are ..... Which
‘two of the following are correct?

High Impact on the market 7~
Quuck response tme -

"
The effective and efficient management of the production/operations function
Profitability

Low production costs

In terms of capacity planning and control, Qﬁ'@ng is the ratic of.
(1) actal output o eflective capacity

2

actual output to design capacity - € Froesy _,,Os.-pu\
-(ﬁff ey

~

design capacity lo effactive capacity

effective capacity to actual cutput - c R:e‘d'“" e =iy

design capacity to actual capagcity
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The four important measures which can be used to distinguish between the different types of operations
are:

a : Volumeof output - Y

/
¢ | Varetyofoutput -

d \_ Degree of customer/client contact AN

B 2. VAriation in demand .. - - e <o s e e e

e Capital Intensity r<
o1 . 1 acde
e o e
T R3)  sbcd
} 4 bede
{ ) § abce

§.- Which two of the following statements are incorrect?
pzsqsq-vuf\/ The inputs to material requirements planning (MRP) are w;pmer orders and sales.
& Oeya \b-"/ Demand management is defined as the management of customer orders and sales forecasts.
g Sol @ A magter production schedule (MPS) ﬁn@e_@]_[&%gmmg industries™

d *'»‘h;ﬂ?ateﬁal requirement planning does nat only plan for each order, but also allows the re-planning
Srders. .

et -~ >y The maln flles kept in MRP systems that help manage inventory are the trar@n m?gﬁ:{

maagals, and the focafign file. <.
N E‘E Tre (b= page, Pla

H Tia s L PP Tl
{ J
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Customericlients influence the differant performance objectivas. The table below provides some
_ customer/client needs or competitive factors which lead to certain performance ohjectives (eg, low pnce
b cost). Which two-of the following are incorrect?...

Competitive factors (if the cuatomersiclients | Performance ohbjectives (theﬁ the gperation
value these ...} - will need to axcel at thesa ... )
low price ) % 7 cost
W low variabliity < cansistent quality
' ‘ fast delivery %\% —— | quality
7 reiiable delivery e v\ dependability
1. {e. ablityochangetiming b flexibility (delivery)
wide range of products L2 flexibllity {mix)
abiitytoadeptdesign .~ % k> speed )

7. Which one of the following statements Is correct?
ot

{ ¢ entr B
¥ "Doing things on time" in a business transiates Into a speedEvanf?_gz Lgr

x5
2 q’( demg_gﬁiaa in a business usually reaults in having to do things ovar and thus nuilifies
- the quality advantage ™~ ces+ acluo i
) N Cvvuv free p=cd
"‘-} #\ X Bafng able o change things quickly in a business also brings about a dee:gndabimy advantage.
G B e L,

(/l’ “Doing gngs right the first time” In 2 business has definite flexdplity % e v S
tom

@, “Doing things fast" has direct benefits in terms of speed and indirectly leads to cost advantages
because the business can respond to customer/client needs more quickly:
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Match the description of the operation in column [ with the appropriate example in column .

(e)-(iin)

3 COLUMN | COLUMN il
A [@  Highvariety . N (ly Tad iransport
(b} High volume : {7  Butchery
() High degree of customericiient ct (™~  Fuelling station
(d)  High variation in demand o~ Tcm Bakery
@ (@ (Rl Lot (B
2 (a-m (L)) (e)-{iil) {dHv)
3. (@i (bW (eHiv) &%)
@ (aH® OHB - () ()
5 {aHw) (b)) )ty

Maichthe e:ctentaf!he responsiblility of the production/operations manager in column | with the appropriate
axample in column I,

COLUMN | COLUMN Il
(a) Direct responsibility —— _ 1) Demand forecasting
(b) Indirect responsibllity R ¥ New product promotion
(@  Mutualresponsiolty -~ ‘K\“(iﬁ) Location of plant
M)  Machine maintenanca
1 (@i} (b}iv} (cH®M
@ @ 6N (MR
3 (aHiiXiil) (5D (eiv)
4 (aH(iv} (b)) (el
(5) @M a0 (o
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10. Which three of the following statements are incorrect?

The activities of pmduchonlope jons management encompass five direct respensibilities, namely to
understand the operati tegic objectives, to develop a uction/operations strategy, to design,
Ktoplanandvolml andhoimpro%epmduchoﬂopafah ns system.

\/ The general modet of production/operations management consists of twa ideas: an input-transformation
i model, which has a management overlay consisting of the direct and indirect
A responsiblhﬂes of production/operations managers.
WO e production/operations system hierarchy consists of the internal reparting relationships between high-
\ » level, middie-level and low-level managers, supervisors and shop-floor workers.

/@ Anjniemat customer/client represants a person or group of people wha over many years have reached
¥ the status of preferred trading party (ie VIP customer/cllent) while an intemal supplier sxmilariy has
B reached preferred trading status and acts as an extension of the primary business. 04

ie of the advantages ofbufl'enng the producﬂoﬂopemﬂon systam agamst disruptions’ oﬁgmaﬁng fmm

extemnal snvironmental lies In the ability of the business to significantjy reduce stocks of mput and
cutput resources. e
4_—abe
bed
cde

* acd

11. Which thres of the following statements are Incorrect?
/'f High variety méans preducing the same product a great many times.
b )\ Cdstomer contect means that customers are able to see and touch the prodl.ld.

pw@m‘?‘ ) operation. o

-M,,Operaﬂona can be classified along four cimensions, namely according to the level of their Volume,
- \@pety, varigfied and degree of gustomer contact*—

gnﬁv/‘yane of the direct responasibilities of production/operations management is planning and controlting the
operation.

@ b WV

—bed

s Toe ) %)
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12. Which three of the following statements are corract?

P . A
@/ " Productivity management may be viewed from two levels: macro-economic and micro-economic.

b A broad measure of _productlvrty' fDl' the coun'ay asa whole comprises outputs divnded by mputs o<

\9/ h/The GDFP [grcss domestic product) per capita comprises the total value of the total output of a country
divided by its total population and, in effect, reflects the relative wealth of the country.

@ g th Africa is regarded as intemationally unique when it comes to productivity performance because
y‘( its ethnic differences and the contrast between the advanced and backward sectors of the economy. v

7 e Whencompared to cther countries with comparable daveloping economies, IikeNgentiha. Brazil, Chile, -
and Mexico, South Africa stands out as the best performer with regard to productivity growth
from 1988 o 1894, =%

r‘) 1 .abc
' 2 —bed
3 tde

6=

13. The DPA model illustrates how productivity levels affect proﬁiabiﬁty Which three of the foilowing altematives:

are correct? ,
\Q) / A change in profit can be brought abeut through a change in product revenus (as influenced by product
by quantity and product price) and/or a change in resource value (s Influenced by resource quantity and
,\A( resource price). '
Sb \9/ A change in projit is not only affected by product and resource gquantities, but also by changes in price
recovery.

c  Anexpected incraase in the prica of Company A's input rasourca will lead to an increase of its product
price to counter the increase in the resource price and maintain profitability. &%

-i With reference to (c) and (d), should Company A's customer/clients choose to buy the product from
Compeany B, the selling quantity will Increase but profitability will decrease.
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14. Match the type of procé'ss Iin manufacturing and services in column | with the appropriate example(s) in

column {l.
" COLUMN I COLUMN It
{a) ’Batm pracess - e Aif Shoe repair shop
{b) Mass process - Paint rnanufacturer
(:) Service shop - .: -&eérproducer
s ¥ Professional service —==="x=p () Optometrist
f{/ 1 @M oHa (e @0
¥ @) (M o) (AHv)
&é 3 @i (M (cHiv) o
@ @-i) (o)1) ©H) (v
s @M BHD (eHi) (dHD

15. The saquence of the design activity in products and services is as follows:
" 4 Concept generation-»Specification>Preliminary marketing
g :
¥ . % SpecficationTest markeling->Final design

s .
_\" @ Concept generation->Screening->Preliminary design->Evaluation and Improvement-» Prototyping and
_ final design i

,)\VY 4 IdeaseCcneep't generation-»Package Development->Process development

§  Concept generation>Test marketing—>idea screening->Preliminary markating - Specification->
() Prototyping ->Final design

[TURN OVER]
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16. Which statement(s} regarding the process type in manufacturing and service cperations is/{ara) correct?
LB
r/Ser K A project process in manutacturing usually deals with-higirvolume and high varisty.

zv-ra@ For the fact that jobhing processes produce rofe and usually smarrtems than a project process, the
degree of repetiticr & -High'——

@ Batch processes and jobbing processes are basically one and the same, the only difference is that
‘*"]33&9 processes do not have such a high degree of variety.

288 rofessional services are defined as high contact organisations where customersiclients spend some
time in the service process. _—"

R . The three broad categories of design criteria are: fea\sﬁny accep‘!abllﬂy and dap?fsﬁl’@t“&

@y
=y

J—de
17. Choose the corract altemative.

£  Product designers are more concemed about the quality of the product than the needs of
customers/clients.

ryic8 'ﬁ,/PmdudIsaMcedesignandpmcessdosign are independent of each other.
e 7&* Volumeandvadatydonotammedeslgnacﬁvﬂy
c,-fept. Theconstmcﬂonofablgbridgelsanexampleafaprojectprocass o

- Sapvi ce sLoft
281 5 Process types In service operations includes professional services, mass ppedugign and shoppingmalls.-

)18 indicate which two of the foliowing statements are incorrect.
w.wa/ The first stage in design entails coming up with the idea for a product or service. v

\M-b;i )(When the prt‘:gud is designed, the only department that is Involved is production/operations
management.

6“—"%’ The Ideas from competitors cannct be congidered during the design of a product or sarvice. 2«
toy 43 16dv" The concept generation includes both intemal sources and external sources.

e+~ Product and service design involves tuming ideas for a new products or services into a detailed
"~ specification.

I'd ae )
L‘t’o @ b\
cd

4 be
5 ce
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19. Products and services are usually one of the first things which customers “see” of 2 company. Which of the
following statement(s) is/(are) correct?
b-§ ~;gtreening becomes less important if concept generation was dona very well.
¥4 ntjoncepts comprise a package of products and services.
% wsTh w!deas from customers/clients are not important during the design of a product/service.
= 5 d ;The process flow chartggu inicates operation, inspection and storage activities, @ wovamnk 2 ey

)i\ ,;.Th sa of value en to see whether all machinea are producing in accordance with the
plan o-u-., 2 redece .--ah W Mlovear eny DANTECiSany Sof 4o pudos Y Eru g/l

N\M‘\QJ

Sg-nﬂ'f

20. Which three of the following statements are cormrect?

15 ("a ) The production/operations network consists of all the customer-supplier relationships that exist both on
"\ Alfe demand and the supply side of the operation.

a7 SC The total aupply netwark consists of ail the first-tier, second-tier an-etrertier-suppfiers. ¥

F3| g f \ Strategic decisions that need taken in relation to the pmducﬂWoperaﬁons k include the
“ Uoflowing: the ﬂond'ﬁrﬁon in the network itself, the extent of verti ration, the location
ormeope" . and the capacity.af each part of the network. ’

o‘ The whole production/operations network needs to be considered in design decisions because it helps
“L-The business to understand Gan compete effectively, heips to identify the particularly significant
links In the.metwork, and helps the buslneg;.trfowa on its long-term position within the network.

) -8 I:: production/operations network daslgn includes both the product/service design and the process
. n.
() &
‘abc- o
acd -
cde
4——pde
5—abe

[TURN OVER]



MNO202-B
May/June 2004

21. The NPI offer valuable suggestions regarding some specific policies for productivity growth. They are
explained under the following headings: )

J_&W
&<

g ®  investment and savings
@ mmm

22 Which two of the fonowing statemnents are incorrect?

e
( )-g\}/,ﬁ'be saquence gf the isyoyt procedure of an operahmdl;m:lves the following: selecting the process
type-)selechng the basic layout type->doing the détaifed tesign of the facility.

Lo &
e layouttype involves iocating the transforming resources along the sequence of the process

ol or flow lines..”
I"'E_? ' fixed poﬁon layout type is usad where the transformed resources move between the transforming

The cell layout iype |s appropriate to operations where regular flow is both more important and feasible,
as In the case of the product layout type. [

.9~ The choice of basic layout typa becomes more important when the flow of the manufacturing or service
Y processes is greater in volume and less in variety.

()

[TURN OVER]
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23. Which three of the following statements are Incomrect?
elements of job deslgn include determining what th‘&ta/x is, where it should be rmed, who is

ponsible far supessising e execution-an-whar It Shouicbe completsd.

@3 b Froma histotical perspective, the approaches to job design practice ‘have become mors and more
4 * human orlented, ~

P @ The dlvision of Iawr\@me monotony of work, increases ﬂexibmty among the workforce, and
promotes faster leaming by specialization. %

105 rARS g) Method m is a sciantific management approach which concentrates on determining and speeding
. (s up the time an average worker takes to cany out a specifictask. -

\e/ Ergonomic designa have the advantage that they pay specific attention o_and aim to improve the
b interface between the worker and the physical aspects of the workplace. «~ _
\

X 1 «ami/ .
o ‘3/ Y g c’;q'f C
(' ) ::‘ql;/ g2
5 ‘tbed

24, Which one of the following enterpriises uses = fixed position layout In its production/operations fagility‘?
Nissan assembly line p=tess |
Eljspark sport stadium
»&~ Edgars ciothing store <!\ /iuxre.d
9!/ Engen service stations <= 1t /ranxcd

@ Shipbullding -+ xedd
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25. Which of the following statements are correct?

\,{ Work study s applied in the investigation of all aspects of human labour and s aimed st improving
efficiency and productivity. _.—~

)i Work study Is @ management tool based on method study, work measurement and various-other-—
specializad teehnigues.

Work study is aimed at Increasing inputs with accompanying financial savings, such as a decrease in
input costs,

Le”” Method atudy strlves for more effective methods to obtain optimal use of material resources and human
resources. ..

£~ Method study is the part of scientific management which makes the most direct contribution to job

deslgn
e
1 abc @

N
o’
LSy

26. Determine the re-order level (ROL) if safety stock for a purchased part is five units, demand for the tem is
tan per day, the lot ‘size Is 40 and the purchase lead time is three days. —_—

1 40 units *

. ;
N . _ A
2 {gq,i units ~/c~c ot
3 70 units S
. .

4 90 units L/ e G L 9
3

fry
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27. Which two of the following staternents are incorract?

AY A  The nature of the decisions that are taken to plan and controf an operation wili depend largely on the
Fid extent of uncertainty in supply and demand.

r,:f-‘@@ Dependent demand planning and control can only be exercised where the demand for the item based
- on some other known faclor is reasonably certain and predictable.

2eH # The dernand time D (length of ime that customer/clients must wait for the product) will- gtways be greater
' than the throughput time P (the time it takes the aperahon to defiver the product to the customer/client)
in “make-to-stock™ operations.

assT* R Tha m activity as part of the pianning and controi task in production/operationa management
must determine which tasks muat be performed before (or take priority over) others.

2¢v " e  Thepianning and control activities in production/production/operations managemant reconclle the supply
of the operaﬁon s products or services with the demand for them by customers/dlients.

<8 The ABC systern ...
3 teaches the *ABC basics of the procuction/operations system.
classifies the th types of items kept in an inventory by Fheir usage value,
is also known as the Pareto law.
aliows inventary manegers o concentrate their efforts on the production/operationa system,

Y

&

tn a@z‘@‘

is an improvement on the mechanical MRP | -run.

[TURN OVER]
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29. Which thres of the following statements are correct?

@,/ On the one hand, the dilemma of inventory management is the high cost and other disadvantages of
holding stock, and on the other, the security they provide in complex operations.

et 2V IR Inventories are a practical necessity ang exist because of an imbalance between the timing of supply
= and demand for materisl resources.

@ To manage the inventory system, decisions af valume [how much to order), iming (when to order) and
place (where to order) need to be taken regularly.

‘343045@ The EOQ of an item with a yearly demand of 2 000, order cost of R25 per order, purchase price of R0
per item and Inventary holding cost af 20 percent of the purchase cost is approximately R91,00

NE-LS Ve e Seasonal items may be held in anticipation inventory and encompass stock that Is produced ahead of

J{ actual demand.\__~~ ez,
.3 : ¥ fT Y QOO
1--~—abe | ”——L—Go.c —~

—- W, 2%
abe

30. Which of the following statements is/are Incorrect?

1ac=~"Supply chains representthe c&annels or strands of linked operations through which goods and services
' Tiow inte the operation {on the supply side) and out of the operation {(on the demand side.)

01 —1a\b~"*~Materials managemant as an integrated concept refers to the management of the NoWof matarials and
’ ﬁ information through the Iyuedlatg supply chain and includes both purchasing and physical distribution
managemen:

5t 16~ 7 Logistics, 23 an extension of the concept of physical distribution management, rafers o the total flow of
) finished goods downstream from the operation, through distributions channels to the end customer.
: N .
42 @'/Suppiy chaln managementis & much broader, more ambitous and strategically significant conceptwhich
views tha entire supply chain as a system to be managed, even across company boundaries, for the
benefit of the end customer.

@ Intagrated concepts such as materials management, merchandising, logistics and supply chain
managemant focus upon managing the flow of materials across the traditional functional boundaries of
purchasing, production/operations and physml distribution,

_s-‘j",el \ none
r3 12 abe
2 3 de

4 ac
5 acde

30 Questions x 1 mark = [30]

[TURN OVER]
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e —

SELECT AND ANSWER ANY TWO OF THE FOLLOWING THREE ESSAY-TYPE QUESTIONS.
- EACH QUESTION COUNTS 20 MARKS.

.
! T e -

ON /" i b
1" Describe tHe nature of the productionvoperations a4la carte restuarant ike PACHAS. Use
mau-ansfomaﬂonmodelmidenﬁfym +the transformed resources, thetypcof >
i

and the W°Wss s Se Sn
"rw."i‘ iy Cogtngy ;g l\o "j cwi @\'5[5)

< . Smvlimtelat :,
. What Islare probably the most important performanca obje i uper market ke SPAR? Nota; g 0~
SU& pyze i

ignore possibie prica diffeences or strategles with competitors

) e S, et [L TN 2 rgaglis @
What are ﬂm indirect responsibmtles of producbonlaperaﬁona man ry and why are these alsg -
s consﬁeredllpporbanr? paz T f, ao beok aﬁ;?@ ’ ] 5
I S ‘& 3 3 : )"_ .f !"1’4'—:‘ g
Coey e 2 I Ly o=l E)
1

\//Explain the implications (in terms of lnventory costs, customer sefvice etc) of; f/ e B

+  alevel capacfty pian which meets demand at all times during the year FS o gt € 4
)chmdemandcapadty planm 20 (?? 374 o tt.‘ I ;

, { - 7 . .
. i ‘z_l L San (" L] ,ll'l

- 4)

A whoiesala building materials stockist obtains its cement from a single supplier. Demand for cement
;\,3-* > is reasonably constant throughout the year. Last year the company soid 2 000 tonnes of cement. 1t
estimates the costs- of placing an order at around R25 each time an order is placed, and charges
inventory holding at 20 per centof purchase cost. The company purchases cementat RE0 perton. How
much cementshouid the cnmpany orderata’ ume?Also indicates when to usa EOQ andumen fo use

0a e < N
' ) ,Glo

nacly barspect eofpfoducuvnymanagementandexplamhmrtcouldbeimpravedinSauﬂ\
. s T DP? el applicabisy Justify your answer. m_&@.
3ﬁ4§£\- Z-sa-\:- -'-—-44-.,‘:,,,-; 5‘- B s AL o L (6)

—_—f e .

\/Z/Withnut tha atliity to design the products/services that will meet the real needs of its customers orcllents,
including the grocesses for their manufacture and delivery, no business wiil manage to survive. The
manufacturing plant of BMVW (SA) Rosalm Pretoriaisa good example of thia. List five design objectives
of the design activity. PorLa T T~ Deqamdit™y

; > (5)

3 b e e B e

u;_.‘_ , - = et 2 <._'-.3.,r“,'\:.13 L6 (TURM OVER]
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The table below indicates the processing times (in minutes) for six jobs in two work centres (panelbeating
and painting). The work centre sequence is fram X to Y.

JOB PROCESSING TIME PROCESSING TIME

WORK CENTRE: X WORK CENTRE: Y
AN . 2 Do 3
B _. 8 . 4
C v 2 ~f.'m
e ‘5
E » 2
N _.‘-F;,v/.' 4 6'?1-\
() | . |
Byus:ng 3ohnaonsalgoriﬁam detarmina the aphma b Processirgy 52 :;51}2';7’/%50‘ o
_ . 4
/4 Whatare thé elements M%@ﬁobdeaign and work arganisation? Why Is this function important
for quality of working life (Q PFS) 3omy Lo ®praurhv™
Foacs Te, Csh “1 (5)
Lo swrrarin by
N
The NPI offer some valuable suggestions regarding specific pollcies for productivity growth. List three
ofthesepolicles. <, P2 &0 — #.

‘—/ ! ', J(‘ g @
Distinguish between Ihe following basic layout types by c!rawing a simple diagram and naming a practical
example of each:

(1 ° ‘productlayo&-@fj&s,:’z-r, 2ebg FSTGC Y {0
I layout P02 /227,225 54 7.4 :

% e )
e . % c
“% "
4

kf [TURN OVER]
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